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sin(a+ 3) — xx— sin a +sin 3
cos(2a) = xx— 2cosa
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[Ex]
sin(a+ 3)=sin a cos F+cosasin 3 ---(1)
cos(a+ ) =cos acos f—sin @sin 3 ---(2)
(

sin(a— 3) =sin e cos [ —cos e sin 3 - - - (3)
cos(a—F)=cosacos f+sin asin 3---(4)

ta { 4 3) tan c+tan 7
11l ¥ 0] = —..
' 1—tan o tan 5 ()

) fan a—tan 3
ta,n(a B 'd) - 14tan o tan (6)
(1)(2)DFERR- - - (LUFDFEBA(FEEISRRDIZE (CDULNT
DEDTHDN, TOAKIEF, o, BIMEROAEDS
BTEMIITD. )

B(CHSWT, LA0B=a, SBOC= B, AO=1&
IDEE, mADxEFEN cos(a+ ), yEBEN
sin(a+f)ERRB.
x=0E=0C-BD=cos a cos [ —sin a sin f —(1)
y=AE=AD+DE=sin a cos [ +cos a sin B —(2)
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(3)(4)DSEER
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sin(a—3)
=sin{a+(—5)} 5IZBERIRHSPEOBDELELRAL
=sin a cos(— [3)4cos a sin(— )
cos 0 (3{BRA2% : cos(—0)=cosf
sin # ($2Z589%% : sin(—f#)=—sin @
=sinacos F—cosasinf - (3)FHENHO .

(4)=

cos(a—3)
SIEEFIFENFEDHDELUE LR
=cos{a+(—3)}
= cos a cos(—3)—sin a sin(— j3)
cos 0 (3{BRI%% : cos{—0)=cosd
sin # (325688 : sin(—0)=—sin f
=cosacos J+sinasin § - (4)FHELHOO N

(5)(6) D3RR
(5)<

tan(a+ ) o
_ sin{a+5) =ABEBOEERG : tan = hlm_z
~ cos(a+/) o

(L)(R)DIERZED
__sinacos f+cosasin f§
" cos e cos B—sin aesin 3

singe | sin 3 PEDF% cos a cos FTED
COSCx oo 3

_ sing_$inj
COS™ os 3
_ tana+tan

1—tan e tan 3 (S)SEERIED D m
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tan(a —j3)
SIEEFIFENFEDHDELUEELRD
=tan{a+(—5)}
(5)DIERZED
_ tana+tan(—/3)
 1—tan o tan(—£)
__ tana—tanfS tan 6 (33/3% : tan(—0)=—tand
" 1+tanatan g
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sin(—0) = —
cos(—60)=
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sin(a+p)
cos(a+pf)
sin(a—pf)

cos(a—pf)
cos (45°+30°)
cos (60°+45°)
sin (60°+ 45°)

sin § +cos a cos f8
cos B +cos a sin fB
sin B +sin a cos f8
cos [ +sin a sin B
sin f —cos a cos [
cos f —cos a sin f8

sin f —sin a cos

a
a
a
a
a
a
a
a

cos B —sin a sin f

sin2a=2sinacosa ---(7)
cos2a = cos2a —sina - - (8)
=2cos2a—1-.--(9)

=1—2sin?a---(10)
_ 2tana -..(11)
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sin(a+f )=sin a cos § +cos a sin 5 --+(



javascript:erabu1(0)
javascript:erabu1(1)
javascript:erabu1(2)
javascript:erabu1(3)
javascript:erabu1(4)
javascript:erabu1(5)
javascript:erabu1(6)
javascript:erabu2(0)
javascript:erabu2(1)
javascript:erabu2(2)
javascript:erabu2(3)
javascript:erabu2(4)
javascript:erabu2(5)
javascript:erabu2(6)
javascript:erabu2(7)
javascript:erabu2(8)
javascript:erabu2(9)
javascript:erabu2(10)
javascript:erabu2(11)

CHNT, a=p &85,

sin2 o =2sin a cos a —>(7)

cos(a+pf )=cos a cos [ —sin a sin f ---(2)

CHBNT, a=B &BLLE,

cos2 o =cos’ a —sin’ a —(8)

(8)ICHBNTsin? a =/—cos?’ a ZRATRE,

cos2 a =2cos’ a —1 —(9)

(8)ICHBWT cos? a =I—sin’ a ZRATBE,

cos2 a =]—2sin’ a —(10)

_ tan o t+tan S
‘%m(aJr,B) / — tan a tan f ()
[CHENT, a=p &H<LE,
tan 2q= 210G _(11)

1 — tan’a
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[Ex]
sinZq — Lc0s2a ...(12)
cos?a = M +(13)
tanZa = 1—cos20 ... (14)

14cos2cx
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5in?® = 1—cosa ...(12)

2 2
2l _ 1Heosa ...(13")
85T

ot __ 1—cosa ...(14")
tan2s = 22 -+ (
27T 14eosa

1—cos o * - (127)
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sing == 2

a_ 1+cos e " (137)
cos3 == 5

o /1—cosa * " (147)
all— =— :IZ
b 2 14cosar

(9)(10)ZZERINUE—~(12)(13)
(12)+(13)IcKD—(14)

O 3EALNK
2EBEANKENNEERZEAIEDED L, ROARKNTE
D.

[E=x]
sin3a = 3 sin a — 4sin’a - - - (15)
cos3a = 4cosda—3 cos a---(16)
3 tan o—tando -(17)

tanda = :
1—3tan?n




(15)«<

sin(2 a+a)=sin2 a cos a +cos2 a sin «
=2sin a cos’ a +(I-2sin? a)sin «

=2sin a (I-sin’ a )+(I-2sin’ a )sin «

=3sin @ —4sin’ a --(15)iBEEHO E

(16)«

cos(2 a+a)=cos2 a cos a —sin2 a sin «a
=(2cos? a —1 )cos a —2sin’ a cos «
=(2cos’ a —1 )cos a —2(1—cos’ a ) cos a

=4cos’ a —3cos a --(16)iIRA¥EIHDO m

(17)«

tan(2a+a)=

2tana
__ l1—tan?a
o __ Z2tano
1-tanZa
2 tan a+tan o1 — tan?a)

(1—tana)—2tan a-tan o

_ Stana—tande 4oy e
1—3tan?o

tan2e+tan o
1—tan2a tan o
+tan o

tan ce

P& R RDEBREFLWVNEDZ THSEN,

[FUSHIC EDOREEY, HiLVTTFOREEN, (EoTW
NETEXS. )

sin 2o cos 2a sin a cos “a

sin 22.5° cos 105°

(% £, WINPDFEZENCEZRDT. )

2sino cosa
sina—cos 2 a cos 2a—sin‘a
I+eosgy  I+eos2a  I-—gosg  1-—cosia
2 = 2 2
£/ I+eosgy + v 14 cos20
2 L8
2 J-rosg  + V 11— costor
2 2

J—cosdsr 1+ cosds®
2 2
V I—cosds® \ 1+ eosds®
2 2
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sina cos B=§{ sin (a+B)+sin(@— B)} ---(18)

cos ¢ sin [3=§{ sin (a+B)—sin (a—B)} -+-(19)
COS 0 COS B=é{ cos (a+p)+cos(a—B)} ---(20)

sina sin B=— é{ cos(a+p)—cos(a—B)} ---(21)

sinA+ sinB = 2 sin A;B cos

sin A—sin B = 2 cos A-;B sin %

cos A+ cos B =2 cos A;B cos A;B .

cos A—cos B=—2 sin A;B sin

sin (a+B)=sina cos B +cosa sinf --+(1)

+) sin(a—B)=sina cos B —cosa sinf --+(3)

sin (a+B)+sin (a— B )=2sina cos B —(18)

sin (a+f)=sina cos B +cosa sinf ---(1)

—) sin(a—B)=sina cos B —cosa sinf -+(3)
sin (a+B ) sin (a—B)= 2cos a sin B —>(19)

cos(a+P)=cosa cos B = sina sinf ---(2)

+) cos (a—B)=cosa cos B + sina sinB ---(4)

cos (a+B)+cos (a—B)=2cos a cos B —>(20)

cos(a+p)=cosa cos B = sina sinf ---(2)

—) cos(o—B)=cosa cos B+ sina sinf ---(4)
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cos (a+B)—cos (a—B)=—2sina sin B —>(21)

(18)~(21)[CBWNT, a+B=A, a—B=BEHBLE,
a=A4FB  p=4=B _22)~(25)
2 2
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sina cos B cosa cos B sin o sin B cos asin B
cosA—cos B sin A—sin B cos A+cos B sinA4+sin B

%{ sin (a+B)+sin (a—B) }

%{ sin (a+B)—sin (a—B) }

%{ cos (a+B)+cos (a—B) }
—%{ cos (a+p)=cos (a—B) }
2sin(a+B)sin(@—B)  2cos(a+B)cos (a—B)
2sinAtBeosAE  Jcos AxBsinAZE

2

2cos A+85 cos A=E —2sin A+8 sin A—5
=z =z 2 =z

L sinA+Bcos A=F L cos A+Bcos A—B
z2 z 2 2 2 =z
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